1 вариант.
1. Вычисли сумму.
+702    +835     +528     +216    +457
  159     108       475       100      356
2. Найди разность чисел.
-900    -1000     -900    -827    -834
 500       389       420     415     605
3. Найди значения выражений.
(9+347) – (600-308)=
(925-154) – (530-215)=
(678-87) + (47+94)=
4. Выполни действия.
327 кг + 268 кг =
450 л + 126 л =
849 г + 100 г =
5 кг 325 г + 1 кг 300 г =
5. Найди значение выражения.
350+(60 – 50) + 420+60 – (60+100) =

2 вариант.
1. Вычисли сумму.
+324    +453     +690     +375    +714
  163     268       480       163      196
2. Найди разность чисел.
-700    -1000     -364    -600    -275
 400       222       191    196     259
3. Найди значения выражений.
(365+124) + 108 =
(91-63) + 396 =
73 + (418+418) =
4. Выполни действия.
406 кг - 202 кг =
168 г - 76 г =
500 м2 - 120 м2 =
500 кг 106 г + 30 кг 100 г =
5. Найди значение выражения.
100 +(60 – 50) + 420+60 – (60+200) =
3 вариант.
1. Вычисли сумму.
+350    +394     +270     +440    +901
  600     417       500       284      213
2. Найди разность чисел.
-320    -1000     -747    -284    -920
 253       387       300     132     540
3. Найди значения выражений.
(90+70) +480 =
100 – (350 + 440)=
410 + (360 – 40) =
4. Выполни действия.
508 км + 200 кг =
910 км - 100 км =
408 г + 300 г =
810 кг 300 г + 100 кг 159 г =
5. Найди значение выражения.
800 - (350 + 440) - 5+280 – (60+60) =
4 вариант.
1. Вычисли сумму.
+140    +444     +539     +360    +165
  700     253       641       201      991
2. Найди разность чисел.
-900    -1000     -401    -910    -300
 436       975       305     820     125
3. Найди значения выражений.
(400+70) – 119 =
380 + (1000 - 983)=
(320 + 30) – 100 =
4. Выполни действия.
370 кг + 90 кг =
460 г + 800 г =
504 г + 400 г =
4 кг 80 г + 3 кг 400 г =
5. Найди значение выражения.
 (310 – 190) + 493+70 – 100 + (100+200) =

5 вариант.
1. Вычисли сумму.
+528    +375     +714     +347    +305
  191     163       950       214      104
2. Найди разность чисел.
-750    -1000     -843    -580    -300
 333       981       721     280     163
3. Найди значения выражений.
540 – (90 + 30) =
530 + (400 - 381) =
1000 - (900 – 530) =
4. Выполни действия.
560 л + 100 л =
207 л + 80 л =
126 л + 120 л =
3 кг 532 г + 3 кг 300 г =
5. Найди значение выражения.
800 - (42 + 50) + 80 + 93 + (600+30) =

